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Sample Item ID: | MAT.HS.SR.1.00GCO0.0.244
Grade: | HS

Claim(s): | Claim 1: Concepts and Procedures
Students can explain and apply mathematical concepts and
carry out mathematical procedures with precision and
fluency.

Assessment Target(s): | 1 O: Prove geometric theorems.
Content Domain: | Geometry
Standard(s): | G-CO.9

Mathematical Practice(s): | 3, 5

DOK: | 2

Item Type: | SR
Score Points: | 1
Difficulty: | L
Key: | D

Stimulus/Source:
Target-specific attributes | Visually impaired students may have difficulty accessing
(e.g., accessibility issues): | this item due to the animation.
Notes: | Animation item-requires QuickTime video

Click on the play button to view an animation of the construction
of a parallel line. The animation begins by showing a line and a
point above the line.

Parallel_Line.mov

The steps in the construction result in a line through the given
point that is parallel to the given line.

Which statement justifies why the constructed line is parallel to
the given line?

A. When two lines are each perpendicular to a third line, the
lines are parallel.

B. When two lines are each parallel to a third line, the lines are
parallel.

C. When two lines are intersected by a transversal and
alternate interior angles are congruent, the lines are
parallel.
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D. When two lines are intersected by a transversal and
corresponding angles are congruent, the lines are parallel.

Key and Distractor Analysis:

The key is D.

Rationale for choosing correct option: The steps in the construction make a copy of the
angle formed between the transversal and the given line, so these angles are congruent.
The construction steps have produced two lines intersected by a transversal with a pair of
corresponding angles congruent. Option D states a theorem that can be used to conclude
that the corresponding angles must be congruent.
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Rationale for choosing incorrect options:
These are all principles that can be used to prove that two lines are parallel, though only
option D applies to this construction.
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